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N, B.
(1) Question No. 1 is compulsory. .
(2) Attempt any three questions out of remaining questions. ﬁl(!?—\*ﬁ}
(3) Figures to the right indicate full marks. .
(4) Assume suitable data if necessary. “"?(_1_1\ »
L Solve any four :- .ﬂﬂ.?ﬁ

a) Enlist limitations of AC transmission and advantages of HVDCT h‘fw

b) Derive the output de voltage equation of a 6 pulse converter operating with dela

angle (0) and overlap angle (). When (1 < 60) \“‘_::_};
¢) Compare IPC and EPC schemes of converter firing control ’
@
d) Explain By-pass valve a 'L

=
¢ ¥ploin ‘causes and consegquences of harmonics in VDG syst@d\ “QD
P N\
2. a) Explain protection against over voltage and over current i ﬁ) 4
b) Explain means of reducing characteristics and non- c:ha;g L5t
well as dc side of HVDCT line (/f~-~3~

10
armonics onacas 10

3. a) Show the relatmn between delay angle and PDW._., ctardngle with waveforms and 10
ong tion of valves for =0,
u<60° &nd H>60°
b) Explain basic control characteristics of
characteristics with modifications » RV
=N

: _en;;&ed With 3 phase 50 Hz 440 KV source, 10

4, a) Inamoemopolar HVDC link whicl

the dc current is 1.2 KA and 1: (6 pulse converter) dc voltage is 500 KV.
For delay angle of 15°- \{‘* :
a) Find commutation ré’:{l‘%ar\gr
b) Find angle of ove
c) If ac voltage is rec m%ﬂ KV. Find the overlap angle. :
Assume the dc cumfént mwtant _
b) Explain two meth PC (individual phase control) i0
5. a) Explain r:ﬂmgrkérhwsfwmaf in detail alsn explain how different it is from a normal 10
power tra
b) Explal;@,g\ reversal in HVDC and significance of current margin 10
& a) <] ﬂ%ﬁ‘fent circuit of a 6 pulse bridge rectifier 10
b) cau ses, analysis (with waveforms), symptoms, cure of a single commutation 10




